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Examples of Exam Questions

Please, choose one answer and circle the appropriate letter: (one point for each correct answer

1

A

B.

C.
D.

2)

When taking notes, the interpreter tends to use
mainly ‘symbol-based system.

mainly ‘science-based system’

mainly ‘translation-based system’.

mainly ‘interpreting-based system’.

most appropriate interpreting of (‘According to experts, 8,000 murder victims in the

US in the past 32 years were killed by their children.)
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More Examples of Exam Questions

3) The type of problem the interpreter may encounter include
A. objectivity, honesty, systematicness and speed.
B. equality, balancing, ethics, quality
C. remembering, recalling, producing and presenting.

D. Simultaneity, memory, quality and stress.

4) The most appropriate interpreting of ‘Many Muslims pilgrimage here. so if you are
looking for a place to visit, come and visit the Kaaba a great time for the family” is
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